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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 1 SPANISH QUESTION PAPER

Topic:- 405PANISH_A

1)
Rellene el/los hueco/s con la opcion carrecta:

Es imposible que no cuanta gente va a venir; si los has invitado ti mismo.
(1) sepas (2) sabes
(3) supieras (4) sabrias

[Question ID = 607][Question Description = Q01_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2425]
2. 2 [Option ID = 2426)
3. 3 [Option ID = 2427)
4. 4 [Option ID = 2428)

Z)

Rellene el/los hueco/s con la opcidn correcta:ss

Haberme avisado antes, y ho la mafiana.
(1}  perdiera (2} pierdo
(3)  haya perdido {4) he perdido

[Question ID = 608][Question Description = Q02_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2429]
2. 2 [Option ID = 2430]
3. 3 [Option ID = 2431]
4. 4 [Option ID = 2432]

Rellene el/los hueca/s con la opcion correcta:

Las cosas se han podido solucionar por nos han ayudado. Y a ellos hay que agradecerlo.
(1) cuales (2) elque
(3) quienes (4) que

[Question ID = 609][Question Description = Q03_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2433]
2. 2 [Option ID = 2434]
3. 3 [Option ID = 2435]
4, 4 [Option ID = 2436]

4)
Rellene elflos hueco/s con la opcidn correcta:
Si Julian, yo sé que era hoy, pero no te enfades conmigo, no tuve tiempo.
(1) por (2} en
(3) de (4) para

[Question ID = 610][Question Description = Q04_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2437]
2. 2 [Option ID = 2438]
3, 3 [Option ID = 2439]
4, 4 [Option ID = 2440]

Rellene elflos hueco/s con la opcion correcta:

No le pidas ahora dinero; ha refiido con su novia y ;
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(3) es un ligo (4} esta de mas

[Question ID = 611][Question Description = Q05_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2441]
2. 2 [Option ID = 2442]
3. 3 [Option ID = 2443]
4. 4 [Option ID = 2444]

6)
Rellene elflos hueco/s con la opcidn correcta:
Se.gratificara a cualquier que pueda del perrito extraviado,
(1) dar la razon (2) darrazon
(2) llevar razén (4} entrar en razon

[Question ID = 612][Question Description = Q06_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2445]
2. 2 [Option ID = 2446)
3. 3 [Option ID = 2447]
4. 4 [Option ID = 2448]

7)
Escoja la opcidn correcta segun el significado de las palabras en negrita:

La proxima vez no quedo contigo para ir al cine, vaya plantén que me diste el sadbado.

{1) no presentarse a una cita (2) dar una bofetada

(3) dar una sorpresa (4) dar un susto

[Question ID = 613][Question Description = Q07_Spanish_SHAANM_NOV20_shift1]
1. 1 [Option ID = 2449)
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2451]
4, 4 [Option ID = 2452]

8)
Escoja la opcidn correcta segun el significado de las palabras en negrita:
Es una lata tener que fregar los platos é¢verdad?
(1) un traste (2) una diversion

(3) un deleite (4) un gusto

[Question ID = 614][Question Description = Q08_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2453]
2. 2 [Option ID = 2454]
3. 3 [Option ID = 2455]
4. 4 [Option ID = 2456]

9)
Escoja la opcidn correcta segun el significado de las palabras en negrita:

La manifestacion acabo violentamente con la policia repartiendo palos a diestro y a siniestro
(1) a todo el mundo (2} inesperadamente
(3) 5in cesar (4) con placer

[Question ID = 615][Question Description = Q09_Spanish_SHAAN_NOV20_shift1]

1. 1 [Option ID = 2457)

2. 2 [Option ID = 2458]

3. 3 [Option ID = 2459]
4. 4 [Option ID = 2460]

10)
Escoja la opcidn correcta seglin el significado de las palabras en negrita:

Lo hemos pasado pipa en el teatro
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(1) muy bueno (2) muy bien

(3) regular (4) muy mal

[Question ID = 616][Question Description = Q10_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2461]
2. 2 [Option ID = 2462]
3. 3 [Option ID = 2463]
4. 4 [Option ID = 2464]

11)

Escoja la opcion correcta segun el significado de las palabras en negrita:

Sivas de camping es mejor que te lleves chubasquero, por si las moscas.
(1) por si vienen insectos (2} en prevencion

(3) contra la lluvia (4} porsuspicacia

[Question ID = 617][Question Description = Q11_Spanish_SHAAN_NOV20_shift1]

R

12)

. 1 [Optien 1D = 2465]
2 [Option ID = 2466]
. 3 [Option ID = 2467
4 [Option ID = 2468]

Escoja la opcidn correcta segun el significado de las palabras en negrita:

Mira chico, no le busques los tres pies al gato y acepta ya nuestra propuesta
(1) no des comida al gato (2) nolo pienses mas

{3) no hables (4) no le busques mas dificultades

[Question ID = 618][Question Description = Q12_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2469]
2. 2 [Option ID = 2470]
3. 3 [Option ID = 2471]
4. 4 [Option ID = 2472]

13)

Escoja la opcidn correcta segun el significado de las palabras en negrita:

En situacidn tan delicada, mas te vale que vayas con pies de plomo v desconfies de todo
{1) sin hablar demasiado (2) con precaucion

{(3) en sigilo (4) envozbaja

[Question ID = 619][Question Description = Q13_Spanish_SHAAN_NOV20_shift1]

oW

14)

. 1 [Option ID = 2473]
2 [Option ID = 2474
3 [Option ID = 2475]
. 4 [Option ID = 2476]

Escoja la opcidn correcta segin el significado de las palabras en negrita:

No entiendo cémo es que se han acabado casando, si se llevan como el perro y el gato.
(1) discuten constantemente (2) setratan con indiferencia

(3) viven como bestias {(4) sellevan muy bien

[Question ID = 620][Question Description = Q14_Spanish_SHAAM_NOV20_shift1]

e it R

15)

. 1 [Option ID = 2477]
2 [Option ID = 2478]
. 3 [Option ID = 2479]
. 4 [Dption ID = 2480]

El siguiente monumento historico es un ejemplo clasico del arte gético:
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(1) La Dama de Elche (2} Las cuevas de Altamira

(3) La Catedral de Burgos (4) El acueducto de Segovia

[Question ID = 621][Question Description = Q15_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2481]
2. 2 [Optien ID = 2482]
3. 3 [Option ID = 2483]
4. 4 [Option ID = 2484]

16) , _ o ;
El poema “Hombres necios que acusais a la mujer sin razén” es de :
(1) Laura Esquivel (2) Gloria Fuertes
(3) Sor Juana Inés de la Cruz (4) Maria de Zayas

[Question ID = 622][Question Description = Q16_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2485]
2. 2 [Option ID = 2486]
3. 3 [Option ID = 2487]
4. 4 [Option ID = 2488]

17)
El ensayismo latinoamericano es mejor representado por:

(1) Romulo Gallegos (2) Pablo Neruda
(3) Alfonso Reyes (4) Gabriela Mistral

[Question ID = 623][Question Description = Q17_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2489]
2. 2 [Option ID = 2450]
3. 3 [Option ID = 2491]
4, 4 [Option ID = 2492]

18)
En la novela Huasipungo:
(1) Se narra la historia de la lucha de los campesinos mexicanos
{2) Se narra la construccion de una carretera en la region andina por parte de una compaiiia

norteamericana
(3) Se narran la vida y costumbres de los gauchos argentinos

{4) Se describen los rituales eclesiasticos

[Question ID = 624][Question Description = Q18_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2493]
2. 2 [Option ID = 2494)]
3. 3 [Option ID = 2495]
4, 4 [Option ID = 2496]

19)
La soberania politica del califato de Cérdoba se alcanzd con:
(1) la autoproclamacion de Abderrahman lil como Califa en 929
(2) la division del Al Andalus en reinos de taifa
(3) la toma de Granada

(4) la Reconquista

[Question ID = 625][Question Description = Q19_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2497]
2. 2 [Option ID = 2498]
3. 3 [Option ID = 2499]
4, 4 [Option ID = 2500]

40) La cultura zapoteca tuvo su centro en:

(1) Cholula (2) Maonte Alban
(3) Chichen Itza (4) Palenque
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[Question ID = 626][Question Description = Q20_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2501]
2. 2 [Option ID = 2502]
3. 3 [Option ID = 2503]
4. 4 [Option ID = 2504]

21
) Las siguientes obras espafiolas tratan el tema de la memoria histdrica:
(1) Si te dicen que cai (2} Cinco horas con Mario
(3) Soldados de Salamina (4) Lo colmena

[Question ID = 627][Question Description = Q21_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2505]
2. 2 [Optien ID = 2506]
3. 3 [Optien ID = 2507]
4. 4 [Option ID = 2508]

22)
La mayoria de las peliculas de Pedro Almodovar son rodadas (total o parcialmente) en la ciudad
de:
(1) Bilbao (2} Sevilla
(3) Madrid (4) Valencia

[Question ID = 628][Question Description = Q22_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2509)
2. 2 [Option ID = 2510]
3. 3 [Option ID = 2511]
4. 4 [Option ID = 2512]

23)
Espafa y Portugal habian pactado el reparto del Nuevo Mundo mediante la firma de:
(1) El Tratado de Tordesillas {2} El Acuerdo de las Indias Occidentales
(3) Las Capitulaciones de Santa Fe (4} El Tratado de Lisboa

[Question ID = 629][Question Description = Q23_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2513]
2. 2 [Option ID = 2514]
3. 3 [Option ID = 2515]
4, 4 [Option ID = 2516]

24)
iComo se llamaba el emperador del imperio azteca que fue capturado por Hernan Cortes en
15217
(1) Tapac Yupanqui (2) Francisco Pizarro
(3) Moctezuma Il (4) Atahualpa

[Question ID = 630][Question Description = Q24_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2517]
2. 2 [Option ID = 2518]
3. 3 [Option ID = 2519]
4. 4 [Option ID = 2520]

25)
Fue conocido como “El Sabio”:
(1) Felipe Il (2) CarlosV
(3) Fernando VI (4) Alfonso X

[Question ID = 631][Question Description = Q25_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2521]
2. 2 [Option ID = 2522]
3, 3 [Option ID = 2523]
4, 4 [Option ID = 2524]

26)
La pelicula surrealista que hicieran Dali y Bunuel es:

f1% £l rotrhila Ao Mascea Doadra {24 Hin narrn rindalize
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(3) Subida al Cielo (4) ElBruto

[Question ID = 632][Question Description = Q26_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2525]
2. 2 [Option ID = 2526]
3. 3 [Option ID = 2527]
4. 4 [Option ID = 2528]

27)
Memoria del fuego es el titulo de:

(1) una trilogia de Eduardo Galeano sobre la historia de América Latina
(2) un documental de Pino Solanas sobre la dictadura militar en Argentina
(3) una pelicula de Tomas Alea sobre la esclavitud en Cuba

(4) una cancion de Violeta Parra que alude a la resistencia chilena

[Question ID = 633][Question Description = Q27_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2529]
2, 2 [Option ID = 2530]
3. 3 [Option ID = 2531]
4. 4 [Option ID = 2532]

28) El Plan de Ayala fue:
(1) un apéndice agregado a la Constitucién de Cuba en el periodo 1899-1902 que respondia
a los intereses de los Estados Unidos
(2) una proclamacién politica promulgada por Emiliano Zapata en la Revolucion Mexicana
(3} un plan decretado por el EZLN en 2005 para proteger los territorios zapatistas
(4) un plan del Ejército de Venezuela activado en momentos de desorden civil

[Question ID = 634][Question Description = Q28_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2533]
2. 2 [Optien ID = 2534]
3. 3 [Option ID = 2535]
4. 4 [Option ID = 2536]

29)
Ceuta y Melilla son:
(1) Dos islas espanolas en Gibraltar que todavia estan bajo el control territorial de Inglaterra
(2} Dos ciudades en Marruecos que todavia estan bajo el control territorial de Espana
(3} Dos micro-estados soberanos en el suroeste de Espana
(4} Dos picos importantes de los Pirineos

[Question ID = 635][Question Description = Q29_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2537]
2. 2 [Option ID = 2538)
3, 3 [Option ID = 2539]
4. 4 [Option ID = 2540]

30)
¢ Cual de las siguientes fue anfitriona, musa y traductora de la obra de Tagore en Argentina?
(1) Victoria Ocampo {2) Zenobia Camprubi
(3) Ketaki Kushari Dyson (4) Luisa Valenzuela

[Question ID = 636][Question Description = Q30_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2541]
2. 2 [Option ID = 2542]
3. 3 [Option ID = 2543]
4. 4 [Option ID = 2544]

31
) The Jaguar Smile de Salman Rushdie es un libro de viajes sobre:

(1) Cuba (2} Nicaragua
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(3) Bolivia (4) México

[Question ID = 637][Question Description = Q31_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2545]
2. 2 [Optien ID = 2546]
3. 3 [Optien ID = 2547]
4. 4 [Option ID = 2548]

32 ‘v ’ S 3 ; ,
) Los Sandinistas triunfaron sobre el siguiente dictador en 1979 en Nicaragua:
(1) Rafael Trujillo (2) Augusto Pinochet
(3) Anastasio Somoza (4) Fulgencio Batista

[Question ID = 638][Question Description = Q32_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2549]
2. 2 [Optien ID = 2550]
3. 3 [Optien ID = 2551]
4. 4 [Option ID = 2552]

33)
El movimiento estudiantil es un movimiento famoso de :
(1) Ecuador (2} Chile
(3) Bolivia (4) Venezuela

[Question ID = 639][Question Description = Q33_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2553]
2. 2 [Option ID = 2554]
3. 3 [Option ID = 2555]
4. 4 [Option ID = 2556)

34 e ; 2 : g 7 5 .
) ¢ Cual de los siguientes pensadores se asocia con la teologia de la liberacidén en América Latina?
(1) Roger Bartra (2) Radl Prebisch
(3} Gustavo Gutiérrez (4) Guillermo Bonfil Batalla

[Question ID = 640][Question Description = Q34_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2557]
2. 2 [Option ID = 2558]
3. 3 [Optien ID = 2559]
4. 4 [Option ID = 2560]

35) .
i Cual es el escenario principal de la novela Pedro Paramo del mexicano Juan Rulfo?
{1) Rumi (2) Calemar
(3) Comala (4) Riohacha

[Question ID = 641][Question Description = Q35_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2561]
2. 2 [Option ID = 2562]
3. 3 [Option ID = 2563]
4. 4 [Option ID = 2564)]

36)
El autor del libro de cuentos Bestiario es:
(1) Carlos Fuentes (2} Julio Cortazar
(3) Gabriel Garcia Marquez (4) Alejo Carpentier

[Question ID = 642][Question Description = Q36_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2565]
2. 2 [Option ID = 2566]
3. 3 [Option ID = 2567]
4. 4 [Option ID = 2568]

37)

éCual es el final de la novela Cien ahios de soledad del escritor colombiano Gabriel Garcia
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Marguez?

(1) El pueblo de Macondo sufre una guerra civil

(2) Muere Melguiades y lo sujetan a un arbol con espinas

(3} Nace un nifio con cola de cerdo y Macondo desaparece de la faz de la tierra
(4) El altimo de los Aurelianos mata a su padre

[Question ID = 643][Question Description = Q37_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2569]
2. 2 [Option ID = 2570]
3. 3 [Option ID = 2571]
4. 4 [Option ID = 2572)

38)
¢ Qué autor pertenece al vanguardismo peruano?
(1) Jaime Bayly (2) José Maria Arguedas
(3) César Vallejo (4) Ricardo Palma

[Question ID = 644][Question Description = Q38_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2573]
2. 2 [Optien ID = 2574]
3. 3 [Optien ID = 2575]
4. 4 [Option ID = 2576]

39
) La obra de Inca Garcilaso, Comentarios Reales de los Incas, es:
(1) una novela (2) unacrénica
(3} un cuento (4) una epistola

[Question ID = 645][Question Description = Q39_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2577]
2. 2 [Optien ID = 2578]
3. 3 [Option ID = 2579
4. 4 [Option ID = 2580]

40 - " - - a F . a . F L
) El siguiente escritor insighe de América Latina se considera el precursor del realismo magico por
su literatura fantastica:

{1) Alfredo Bryce Echenique (2) Jorge Luis Borges

(3) Carlos Fuentes (4) Ciro Alegria

[Question ID = 646][Question Description = Q40_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2581]
2. 2 [Optien ID = 2582]
3. 3 [Option ID = 2583]
4. 4 [Option ID = 2584]

41 . : )
) Los siguientes rasgos caracterizan La Celestina:

A.  Cuenta con los tres nicleos bien definidos: planteamiento, desarrollo, desenlace
B. Liquida el mundo artificioso e irreal de la novela sentimental

C. Tiene una forma dialogada

D.  Esta escrito en forma de un extenso poema narrativo de caracter alegorico

Elija la opcidon correcta de las dadas:

(1) A,ByD (2} A,ByC

(3) ACyD {4) B,CyD
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[Question ID = 647][Question Description = Q41_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2585]
2. 2 [Optien ID = 2586]
3. 3 [Option ID = 2587]
4. 4 [Option ID = 2588]

42)

La revoluciéon mexicana:

A.  fue protagonizada por Porfirio Diaz

B. eslaprimera de las grandes revoluciones del Siglo XX

C. inicio la etapa industrial en América Latina

D. derriba una de las dictaduras mas firmes de América Latina
Elija la opcidon correcta de las dadas:

(1) A, ByC (2) AyC

(3) AyB (4) B,CyD

[Question ID = 648][Question Description = Q42_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2589]
2. 2 [Option ID = 2590]
3. 3 [Option ID = 2591]
4, 4 [Option ID = 2592]

43)

¢Cuales de las siguientes afirmaciones son correctas sobre el modernismo?

A.  Versos Libres es el Gnico poemario de José Marti

B. Azuleslaobra maestra de Rubén Dario

C. La poesia de Julian del Casal marca el transito del Romanticismo al Modernismo
D. losé Enrique Rodo es un poeta destacado

Elija la opcion correcta de las dadas:

(1) AyB (2) ByC
(3) SéloA (4) AByD

[Question ID = 649][Question Description = Q43_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2593]
2. 2 [Option ID = 25%94]
3. 3 [Option ID = 2595]
4, 4 [Option ID = 2596]

44)

¢Cuales de las siguientes frases son correctas sobre la novela La Voragine?

B Es la Gnica novela producida por José Eustasio Rivera

B. Es una de las obras de Ricardo Giiraldes

C.  El protagonista emprende su viaje a la selva colombiana para localizar a su amada

D.  Es una denuncia de la explotacion inhumana que sufren los trabajadores de las caucherias
Elija la opcidn correcta de las dadas:

(1) AyD (2) A, ByC
(3) A, CyD (4) A,ByD

[Question ID = 650][Question Description = Q44_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2597]
2. 2 [Option ID = 2598]
3. 3 [Option ID = 2599]
| 4. 4 [Option ID = 2600]
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45)

La/s siguiente/s obra/s es/son ejemplos de la dramaturgia de Cervantes :
A.  Numancia

B. Viaje del Parnaso

C.  los bafios de Argel

D. Lo Galatea

Elija la opcidn correcta de las dadas:

(1)  ACyD 2} AycC
(3) SoloB (4) SoloA

[Question ID = 651][Question Description = Q45_Spanish_SHAAM_NOV20_shift1]

1. 1[Op
2. 2[Op
3. 3[0Op
4, 4 [Op

46)

tion ID = 2601]
tion ID = 2602]
tion ID = 2603]
tion ID = 2604]

Los siguientes son atributos del barroco espafiol :

A. el mundo se contempla como una lucha de contrarios
B. se extiende el topico de la teatralizacion del mundo
C. la vida se considera un camino hacia el cielo

D. lateologia se convierte en el saber principal

Elija la opcién correcta de las dadas:

(1) AyB (2) AByC
(3) CyD (4) B,CyD

[Question ID = 652][Question Description = Q46_Spanish_SHAAN_NOV20_shift1]

1. 1[Op
2. 2[0p
3. 3[Op
4. 4[0p

47)

tion ID = 2605]
tion ID = 2606]
tion ID = 2607)
tion ID = 2608]

Las siguientes figuras pueden asociarse con el costumbrismo latinoamericano:
A.  Mariano José de Larra

B. Ricardo Palma

. Gertrudis Gomez de Avellaneda

D. Rubén Dario

Elija la opcidn correcta de las dadas:

(1) Sélo D (2) AyB
(3) Sélo B (4) AycC

[Question ID = 653][Question Description = Q47_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2609]
2. 2 [Option ID = 2610]
3. 3 [Option ID = 2611]
4, 4 [Option ID = 2612]

48)

Los siguientes rasgos caracterizan el conceptismo barroco:
A. las metéforas, imégenes o similes ofrecen una visién deshumanizada de la realidad

B. el predominio de vocablos esdrijulas
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C. léxico cargado de referencias coloristas v sensoriales crea la belleza formal
D. los equivocos vy los dobles sentidos evidencian el ingenio del autor
Elija la opcién correcta de las dadas:
(1) BycC (2) A,ByC

(3) AyD (4) AyB

[Question ID = 654][Question Description = Q48_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2613]
2. 2 [Option ID = 2614]
3. 3 [Option ID = 2615]
4. 4 [Option ID = 2616]

49) . . . : )
Los siguientes escritores espaficles son conocidos por el cultivo del género fantastico:

A.  Miguel Delibes

B. Maria Mayoral

C.  Cristina Fernandez Cubas

D.  Juan José Millas

Elija la opcion correcta de las dadas:

(1) Sélo C (2) A,B,CyD

(3) CyD (4) Sélo A
[Question ID = 655][Question Description = Q49_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2617]

2. 2 [Option ID = 2618]

3. 3 [Option ID = 2619
4. 4 [Option ID = 2620]

50)
Las siguientes afirmaciones pueden asociarse con la poesia social espafiola de los afios 50:

A.  proposito principal de testificar y denunciar las injusticias
B. eltema no esimportante

C. lenguaje coloquial o conversacional

D. poesia destinada a la inmensa mayoria de la gente

Elija la opcion correcta de las dadas:

(1)  Sélo A (2) AB,yD
(3) AybD (4) A,CyD

[Question ID = 656][Question Description = Q50_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2621]
2. 2 [Option ID = 2622]
3. 3 [Option ID = 2623]
4. 4 [Option ID = 2624]

21)
Los siguientes elementos pueden asociarse con el teatro del absurdo:

A. lafilosofia existencialista

B. [lamezcla delo cédmico y lo trégico
C. coherencia de tiempo y espacio
D. dialogos sin sentido

Elija [a opcidn correcta de las dadas:
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(1) AByD (2) SéloA
(3) AyB (4) AycC

[Question ID = 657][Question Description = Q51_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2625)
2. 2 [Option ID = 2626
3. 3 [Option ID = 2627]
4. 4 [Opticn ID = 2628]

52)

Las siguientes novelas pertenecen a la picaresca espafiola

A.  ElBuscdn de Quevedo

B.  El Criticon de Baltasar Gracian

C.  Rinconete y Cortadiffo de Cervantes

D.  Historia de Abencerraje y la hermosa Jarifa de autor andénimo
Elija la opcian correcta de las dadas:

(1) A CyD (2} A,ByC
(3) AycC (4) AvyD

[Question ID = 658][Question Description = Q52_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2629]
2. 2 [Option ID = 2630]
3. 3 [Option ID = 2631]
4. 4 [Option ID = 2632]

53)

éCudl/es de los pares abajo mencionados de concepto y escritor es/son correctas?

A.  Cultura hibridas: Nestor Garcia Canclini

B.  Transculturacion: Fernando Ortiz

& Transculturacién narrativa: Roberto Fernandez Retamar
Elija la opcidn correcta de las dadas:

(1) Salo A (2) AvyB
(3) AycC (4) SéloB

[Question ID = 659][Question Description = Q53_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2633]
2. 2 [Option ID = 2634]
3. 3 [Option ID = 2635]
4. 4 [Option ID = 2636]

54)

Los siguientes elementos pueden asociarse con la corriente realista en Espana :

A.  la observacion precisa de la realidad

B. ambientacion urbana

C.  desarrollo psicélogo de los personajes
D. libertad del espiritu

Elija la opcion correcta de las dadas:

(1) SdloB (2) SéloD
(3) AByD (4) AByC

[Question ID = 660][Question Description = Q54_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2637
| 2. 2 [Option ID = 2638)
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| 3. 3 [Option ID = 2639]
4. 4 [Option ID = 2640]

55
) ¢ Cual fes de la/s siguiente/s novela/s es/son de José Maria Arguedas?

A.  Los rios profundos
B. VYawar fiesta

e Todas las sangres
D. Los pasos perdidos

(1)  Sélo A (2) AyC
(3) A B yC (4) A,B,CyD
[Question ID = 661][Question Description = Q55_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2641]
2. 2 [Option ID = 2642]
]
]

3. 3 [Option ID = 2643
4. 4 [Option ID = 2644

56) . ; o i
Las siguientes figuras pueden asociarse con el teatro espafol del exilio después de la Guerra
Civil:
A.  Alejandro Casona

B. Max Aub

C.  Alfonso Sastre

D. lauro Olmo

Elija la opcidn correcta de las dadas:

(1) SoloD {2) A,ByD

(3) AyB {(4) S6loB

[Question ID = 662][Question Description = Q56_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2645]
2. 2 [Option ID = 2646]
3. 3 [Option ID = 2647]
4, 4 [Option ID = 2648]

57)
La/s siguiente/s critica/s literaria/s analiza/n la vida posmaoderna en Argentina;

A.  Rosario Ferré

B.  Beatriz Sarlo

C.  Julia Alvarez

D. Catherine Walsh

Elija la opcion correcta de las dadas:

{1) Solo B (2) A,ByD

(3) AyB (4) SéloC

[Question ID = 663][Question Description = Q57_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2649]
2. 2 [Option ID = 2650]
3. 3 [Option ID = 2651]
4. 4 [Option ID = 2652]

58) - . . " Ly
Las siguientes figuras pueden asociarse con el teatro espafiol de la transicidén:

A. lose Luis Alonso de Santos

B. Paloma Pedrero
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C. Ramon Maria Valle Inclan
D. Federico Garcia Lorca
Elija la opcidn correcta de las dadas:

(1) SéloC (2) S6loD
(3) AByC (4) AyB

[Question ID = 664][Question Description = Q58_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2653)
2. 2 [Option ID = 2654]
3. 3 [Option ID = 2655]
4. 4 [Opticn ID = 2656]

59)
La siguiente figura se asocia con el teatro burgués del primer tercio del Siglo XX:
A, Fernando Fernan Gomez
B. Ramon de Valle Inclan

C. Federico Garcia Lorca

D. lacinto Benavente
(1) AvyB (2) SdéloD
(3) CyD (4) AyC

[Question ID = 665][Question Description = Q59_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2657]
2. 2 [Option ID = 2658]
3. 3 [Option ID = 2659]
4, 4 [Option ID = 2660]

60)
La poesia de los siguientes escritores se centra en la interiorizacion del mundo exterior

reflejando una poderosa individualidad:
A, José Maria Peman

B. Juan Ramoén Jiménez

C.  Gabriel Celaya

D. Blas de Otero

(1) CyD (2) A,CyD

(3) SéloB (4) SoloD
[Question ID = 666][Question Description = Q60_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2661]

2. 2 [Option ID = 2662]

3. 3 [Option ID = 2663]
4, 4 [Option ID = 2664]

61)
El/los siguiente/s nombre/s se asocia/n con el vanguardismo

A Ramon Gomez de la Serna
B. Ramon de Campoamor
C. Vicente Huidobro

D. Antonio Machado

(1) Solo A (2) SéloD
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(3) AyC (4) AyD

[Question ID = 667][Question Description = Q61_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2665]
2. 2 [Option ID = 2666]
3. 3 [Option ID = 2667]
4. 4 [Option ID = 2668

62)
El/los siguiente/s nombre/s se pueden asociarse con el cubismo ;

A.  Juan Gris

B. Pablo Picasso

C.  Salvador Dali

D.  Frida Kahlo

(1) AyB (2} soloB

(3) Soélo C (4) CyD

[Question ID = 668][Question Description = Q62_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2669]
2, 2 [Option ID = 2670]
3, 3 [Option ID = 2671]
4, 4 [Option ID = 2672]

63)

Los siguientes conflictos marcan el camino hacia el colapso del imperio espafiol en América:

A.  Laserie de revueltas indigenas en la cordillera andina

E. Las protestas anti-fiscales en rechazo de impuestos fijados por la Real Hacienda

C; El impacto politico de la rebelién de los esclavos negros en Haiti
D.  Elcrecimiento espectacular de las masas urbanas

(1) BycC (2) A,ByC

(3) SéloD (4) A,CyD

[Question ID = 669][Question Description = Q63_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2673]
2. 2 [Option ID = 2674]
3. 3 [Option ID = 2675]
4, 4 [Option ID = 2676]

™) ¢Quiénes de los siguientes reyes son de la Casa de los Hasburgos?
A.  Felipell
B. CarlosV
C. Carlosll

b. Isabella de Castilla

(1)  S6loD {2) SdlocC
(3) AyB (4) A,CyD

[Question ID = 670][Question Description = Q64_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2677]
2. 2 [Option ID = 2678)
3, 3 [Option ID = 2679]
4, 4 [Option ID = 2680]

65)

Los siguientes elementos pueden asociarse con la obra Martin Fierro de José Hernandez :
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E.

(1)
(3)

un largo poema épico
narracion de la vida de los gauchos

la dictadura de Gonzalez Videla

el ideal romantico de la libertad

la biografia de un caudillo

S6lo A (2)

Sélo D (4)

A B ,CyD
Solo E

[Question ID = 671][Question Description = Q65_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2681]
2. 2 [Option ID = 2682]
3. 3 [Option ID = 2683]
4, 4 [Option ID = 2684]

66)

(A)
(B)
(C)
(D)

Relacione los elementos de las siguientes listas:

Lista |
Gonzalo de Berceo
Alfonso X
bn Hazm

Garcilaso de la Vega

(i)

(ii)
(i)
(iv)

Escoja la opcién correcta de las dadas a continuacion:

(1)
(2)
(3)
(4)

(A)-(iv), (B)-(i), (C)-(ii}, (D)-(iii)

(A)-(iii), (B)-(i), (C)-{iv), (D)-ii)
(A)-(iv), (B)-(iii}, (C)-(ii), (D)-(i)
(A)-(iif), (B)-(ii}, {C)-(iv), (D}-(i)

Lista [l

la renovacion de la lirica
cantos de amor femenino
la primera prosa en castellano

la cuaderna via

[Question ID = 672][Question Description = Qé6_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2685]
2. 2 [Option ID = 2686)
3. 3 [Option ID = 2687)
4. 4 [Option ID = 2688]

67)

Relacione los elementos de las siguientes listas:

(A)

(B)

(C)

(D)

Escoja la opcion correcta de las dadas a continuacion:

(1)
(2)
(3)

fah

Lista |

El método directo de ensenanza de
lenguas extranjeras

La manera tradicional de ensefnanza de
lenguas extranjeras

El enfoque nocio-funcional

El enfoque por tareas

(A)-(iii), (B)-(iv), (C)-(ii), (D)-{i)
(A)-(iii), (B)-(ii), (C)-(iv), (D}-(i)
(A)-(iv), (B)-iii), (C)-{ii), (D))

P B T D TR oD T - T ok S - T b o % S 8

(i)

(i)

(iii)

(iv)

Lista il

Se parte de actividades que los alumnos
deberan realizar comunicandose en la
lengua

Enfatiza en una gramatica donde los
conceptos sean basicos, claves vy
trascendentales y en el que el centro del
analisis es el propio proceso
comunicativo

Caonsiste en ensefar el idioma mediante
el uso exclusivo de la lengua estudiada

Se caracteriza por la marcada diferencia
de roles entre el alumno y el profesor
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[Question ID = 673][Question Description = Q67_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2689]
2. 2 [Option ID = 2650]
3. 3 [Option ID = 2691]
4. 4 [Option ID = 2692)

68)

(A)
(B)
(C)
(D)

Escoja la opcidn correcta de las dadas a continuacion;

(1)
(2)
(3)
(4)

Relacione los elementos de las siguientes listas:

Lista |
Lope de Vega
Guillén de Castro
Tirso de Molina

Juan Ruiz de Alarcon

(A)-(ii), (B)-{iii}, (C)-(i), (D)-(iv})
(A)-(iv}, (B)-{ii), (C)-(iii), (D)-(i)
(A)-(i), (B)-ii1), {C)-(iv), (D)-(ii)
(A)-(iii}, (B)-(iv), (C)-(i), (D)-(i)

(i}

(ii)
(i)
(iv)

Lista Il
La verdad sospechosa
Don Gil de las calzas verdes
El caballero de Olmedo

Las mocedades del Cid

[Question ID = 674][Question Description = Q68_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2693]
2. 2 [Optien ID = 2694]
3. 3 [Optien ID = 2695]
4. 4 [Option ID = 2696]

53) Relacione los elementos de las siguientes listas:

(A)
(B)
(C)
(D)

Lista |
Miguel de Unamuno
Angel Ganivet
Ramon Maria Valle de Inclan

Pio Baroja

(i}

(ii)
(iii)
(iv)

Escoja la opcidn correcta de las dadas a continuacion:

(1)
(2)
(3)
(4)

(A)-{i}, (B)-(if), (C}-(iii), {D)-(iv)
(A)-(ii}, (B)-(i), (C)-(iv), (D)-(iii)
(A)-{i), (B)-(ii), (C)-(iv), (D)-(iii)
(A)-(ii), (B)-(iii), (C)-{i), {D)-{iv)

Lista Il
Luces de Bohemia
En torno al casticismo
idearium espanof

El arbol de fa ciencia

[Question ID = 675][Question Description = Q69_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2697]
2. 2 [Option ID = 2698]
3. 3 [Option ID = 2699]
4. 4 [Option ID = 2700]

70)

Relacione los elementos de las siguientes listas:

(A}
(B)
(C)
(D)

Lista |
Primera Republica
La Restauracion
Segunda Republica

Frente Popular

Lista I
Cuatro presidentes
Niceto Alcala Zamora
Alfonso Xli

Manuel Azana
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(1) (A){in), (B)-(iii), (C)-(iv}, (D)-(i)
(2) (A0, (Biii}, (C)-(id), (D)Hiv)
(3)  (A){ii), (B)-(i), (C)-(iv), (D)-{iii)
(4)  (A)(i), (B)-{ii), {C)-(iv), (D)-{iii)

[Question ID = 676][Question Description = Q70_Spanish_SHAAN_NOV20_shift1]

oW =

71)

. 1 [Option ID = 2701]
2 [Option ID = 2702]
3 [Option ID = 2703]
. 4 [Option ID = 2704]

Relacione los elementos de las siguientes listas:

Lista | Lista Il
(A) 14 kilometros (i) eltema de la maternidad
(B} Las libertarias (ii) violencia doméstica
(C} Te doy mis ajos (iii) huida de los refugiados
(D) Solas (iv) guerra civil

Escoja la opcion correcta de las dadas a continuacion:

(1) (A)iii), (B)-(iv), (C)-ii), (D}-()
(2} (AN, (B)-(i), (C)-(ii), (D)-(iv)
(3)  {A)i), (B)-{ii), (C)-(iv), (D)-(iii)
(4 (A)ii), (B)-(iii), (C)-(i), (D)-{iv)

[Question ID = 677][Question Description = Q71_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2705]
2. 2 [Optien ID = 2706]
3. 3 [Optien ID = 2707]
4. 4 [Option ID = 2708]

72)

Relacione los elementos de las siguientes listas:

Lista | Lista Il
(A} Elaylluy (i}  Elterreno dedicado al cultivo del maiz
ejido 1" istema de trabajo forzado aplicado a
B) El ejid i) Si d bajo f d licad

los indigenas

(C) Lamilpa (iii) Organizacién social primaria de los

indigenas guechuas y aymaras

(D) La mita (iv)] Una porcion de tierra de uso colectivo

Escoja la opcidn correcta de las dadas a continuacién:

(1) (A}, (B)-{iv), (CHii), (D)-(1)
(2) (A}, (B)-iv), (C)-(i), (D))
(3)  (A)(i), (B)Hii), (C)-(iv), (D){iii)
(4)  (A)ii), (B)-{iii}, (C)-(i), (D}-{iv})

[Question ID = 678][Question Description = Q72_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2709]
2. 2 [Option ID = 2710]
3. 3 [Option ID = 2711]
4. 4 [Option ID = 2712]
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73)
Relacione los elementos de las siguientes listas:

Lista | Lista Il
{A) novela de la revolucién mexicana (i)  Cae la noche tropical de Manuel Puig
(B) novela del dictador (i)  Recurso del método de Alejo Carpentier
(C} novela histérica (iii) Los de abajo de Mariano Azuela
(D} novela epistolar (iv) Ef naranjo de Carlos Fuentes

Escoja la opcion correcta de las dadas a continuacion:

(1) ({A)iii), (B)-(ii), {C)-{iv), (D)-(i)

(2) (A)-(iii), (B)-(iv}, (C)-(i}, (D)-(ii)

(3)  ({A)(i), (B)-{ii), (C}-(iv), {D)-(iii)

(4)  (A)-(ii}, (B)-(iii), (C}-{i), (D)-(iv)
[Question ID = 679][Question Description = Q73_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2713]
2. 2 [Option ID = 2714]

3. 3 [Option ID = 2715]
4, 4 [Option ID = 2716]

74)
Relacione los elementos de las siguientes listas:

Lista | Lista I}
(A} el boom (i) Augusto Monterroso
(B} el testimonio {ii) Jose Donoso
(C) el microcuento {iii} Jorge Volpi
(D} el crack (iv} Claribel Alegria

Escoja la opcidn correcta de las dadas a continuacion:

(1} (A)iii, (B)-ii), (C)-(iv), (D)-(i)
(2)  (A)ii), (B)-(i), (C)-(iv), (D)-(iii)
3 (A)-(), (B)-(ii), {C)-{iv), (D)-(iii)
(4)  (A)ii), (B}-(iv}, (C}-(1), (D)-(iii)

[Question ID = 680][Question Description = Q74_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2717)
2. 2 [Option ID = 2718]
3. 3 [Option ID = 2719]
4. 4 [Option ID = 2720]

) Relacione los elementos de las siguientes listas:
Lista | Lista Il
(A) Martin Rivas (iy Cirillo Villaverde
(B) Cecifig Valdés (i Martin Luis Guzman
(C) Elacoso (iii) Alejo Carpentier
(D) £l Gguila v la serpiente (iv) Alberto Blest Gana

Escoja la opcion correcta de las dadas a continuacion:
(1) {A)-(iii), (B}-(1), (C)-(ii}, (D)-(iv)
(2) (A)-{ii), (B)-(iii), (C){iv}, (D)-(i)
(3) (A)-{iv), (B)-(1), (C)-{iii), {D)-(it)
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[Question ID = 681][Question Description = Q75_5Spanish_SHAAN_NOV20_shift1]

1. 1[Op
2. 2 [Op
3. 3[0p
4. 4[0p

76)

[Question ID = 682][Question Description = Q76_5Spanish_SHAAN_NOV20_shift1]

(4)  (A){iv), (B)-(ii), (C)Hi), (D)-(iii)

tion 1D = 2721]

tion ID = 2722]

tion ID = 2723]

tion ID = 2724]

Escoja la secuencia correcta:
A.  Hispania cartaginesa

B. El reino visigodo

C. Hispania romana

D.  Hispania musulmana
(1) A CB,D (2) A,B,C,D
(3) BACD (4) B,D,AC

1. 1 [Option ID = 2725]
2. 2 [Option ID = 2726]
3. 3 [Option ID = 2727]
4, 4 [Option ID = 2728]

77)

[Question ID = 683][Question Description = Q77_Spanish_SHAAM_NOV20_shift1]

Escoja la secuencia correcta;
A.  Hernan Cortés

B.  Simodn Bolivar

55 Tupac Amaru

D. Miguel Hidalgo

(1)  ABCD (2) B,D,CA
3) ACGBD (4) D,BAC

1. 1 [Option ID = 2729]
2. 2 [Option ID = 2730]
3. 3 [Option ID = 2731]
4, 4 [Option ID = 2732]

78)

[Question ID = 684][Question Description = Q78_Spanish_SHAAN_NOV20_shift1]

Escoja la secuencia correcta segun el orden geografico del norte al sur:

A.  Zapotecas
B. Petén

C: Teotihuacan

D. Cuzco
{1) B,C,D,A (2) CB,DA
(3) A CB,D (4) D,A,CB

1. 1 [Option ID = 2733]
2. 2 [Option ID = 2734]
3. 3 [Option ID = 2735]
4, 4 [Option ID = 2736]

79)

Escoja la secuencia correcta:

A. El gobierno de Aznar
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B. Golpe de estado de Primo de Rivera
C. La Restauracidon
D. La Semana Tragica de Barcelona
(1) C,B DA (2) B,D,CA
(2) ¢ B AD 4y D,BAC
[Question ID = 685][Question Description = Q79_Spanish_SHAAN_NOV20_shift1]
1 [Option ID = 2737]
2 [Option ID = 2738]
]
]

1.
2.

3. 3 [Option ID = 2739
4. 4 [Option ID = 2740

80
‘ ¢Cudl es la secuencia cronoldgica correcta de la construccion de los siguientes edificic
espaioles?
A.  El Museo Guggenheim en Bilbao
B. El Monasterio de El Escorial
C. La Catedral de la Sagrada Familia en Barcelona
D.  ElValle de los Caidos en las afueras de Madrid
(1) B,CD,A (2) B,D,AC
(3) C,B DA (4) ABCD
[Question ID = 686][Question Description = Q80_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2741]
2. 2 [Option ID = 2742]

3. 3 [Option ID = 2743)]
4, 4 [Option ID = 2744]

g1 i ; y : : i ; .
) La jerarquia social segin el color de la piel en la América colonial era la siguiente:

A,  Criollos
B. Gachupines
C. Zambos

D. Mestizos

E. Mulatos
(1) B,A,D,EC (2) A,B,E,D,C
(3) ADBCGCE (4) D,A,BEC

[Question ID = 687][Question Description = Q81_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2745]
2. 2 [Option ID = 2746]
3. 3 [Option ID = 2747]
4. 4 [Option ID = 2748]

82)
Escoja la secuencia correcta de los sucesos en Cuba entre julio de 1956 a enero de 1959

A, Guerra de Guerrillas en Sierra Maestra

B. Desembarco en Santiago de Cuba en Granma

C. El asalto al cuartel Moncada

D.  El triunfo del ejército revolucionario sobre Batista
E.  Exilio en México de Fidel Castro

(1) C,E B, AD (2) ED,CB,A
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(3)

A CDEB (4 EB,CAD

[Question ID = 688][Question Description = Q82_Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2749]
2. 2 [Optien ID = 2750]
3. 3 [Option ID = 2751]
4. 4 [Option ID = 2752]

83)

Escoja la cronologfa correcta de las siguientes novelas espanolas:

A,
B.
2%
D.

E.

(1)
(3)

Fortunata y lacinta
El Jarama

Guzman de Alfarache
Corazon helado
Cartas marruecas

C,EBAD (2) ED,CB,A
C,E ABD (4 E,B,CAD

[Question ID = 689][Question Description = Q83_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2753]
2. 2 [Option ID = 2754]
3. 3 [Option ID = 2755]
4. 4 [Option ID = 2756]

84)

A.
B.
C.

D.

(1)
(3)

Escoja la secuencia correcta de la aparicién de los siguientes movimientos literarios en Espafia

La narrativa experimental

El realismo social

La deshumanizacion del arte
La Generacion del 98

C,B,A, D (2) D,B,C A
D,CEB A (4) CD,BA

[Question ID = 690][Question Description = Q84_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2757]
2. 2 [Option ID = 2758]
3. 3 [Option ID = 2759]
4. 4 [Option ID = 2760]

85)

A,
B.
L
D.

E.

(1)
(3)

Escoja la secuencia correcta de la publicacion de las siguientes obras:

El Perriguiffo Sarniento
2666

Dofia Barbara
Hombres de maiz
Tradiciones peruanas

AE,C,D,B (2) ED,B,CA
D,CB,AE (4) C,/D,EBA

[Question ID = 691][Question Description = Q85_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2761]
2. 2 [Optien ID = 2762]
3. 3 [Optien ID = 2763]
4. 4 [Option ID = 2764]

86)

Se dan dos frases a continuacién:

prepp
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Frase I LOS Mensajes conativos pretenden actuar sopre el receptor para provocar en i una
reaccion.

Frase ll:  Los mensajes faticos se emplean para mantener la comunicacién entre el emisor y el
receptor.

A la luz de estas dos frases, escoja la opcion correcta de las dadas a continuacion:

(1) Ambas frases son correctas

(2) Ambas frases son incorrectas

(3) Frase | es correcta pero la Frase Il es incorrecta
(4) Frase | es incorrecta pero la Frase |l es correcta

[Question ID = 692][Question Description = Q86_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2765]
2. 2 [Optien ID = 2766]
3. 3 [Option ID = 2767]
4. 4 [Option ID = 2768]

87) Se dan dos frases a continuacion:

Frase I: La lengua es el instrumento de comunicacion de una comunidad v el dialecto es una

forma incorrecta de la lengua.

Frasell:  La lengua es el instrumento de comunicacion de una comunidad y el dialecto es una

variedad geografica de esa lengua que no impide la comunicacion,

A la luz de estas dos frases, escoja la opcidn correcta de las dadas a continuacidon:

(1) Ambas frases son correctas

(2) Ambas frases son incorrectas

(3) Frase | es correcta pero la Frase |l es incorrecta
(4) Frase | es incorrecta pero la Frase Il es correcta

[Question ID = 693][Question Description = Q87_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2769]
2. 2 [Option ID = 2770]
3. 3 [Option ID = 2771]
4. 4 [Option ID = 2772)

g8)
Se dan dos frases a continuacion:

Frase I: En una traduccion literaria la adaptacion es la recreacion del mensaje original segin

las necesidades sociolingiiisticas de los lectores.

Frase ll:  En la adaptacion, en el proceso de la traduccién literaria, el énfasis no es en la lengua

original.

A la luz de estas dos frases, escoja la opcidon correcta de las dadas a continuacion:

(1) Ambas frases son correctas
(2) Ambas frases son incorrectas
(3) Frase | es correcta pero la Frase 1l es incorrecta

{41 Frase | ez incorrecta nern la Fraze |l es corracta
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[Question ID = 694][Question Description = Q88_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2773]
2. 2 [Option ID = 2774]
3. 3 [Option ID = 2775]
4. 4 [Option ID = 2776]

89) . ..
Se dan dos frases a continuacion:

Frase I: En la traduccién literaria, la interpretacidén de los signos verbales mediante otra

lengua se llama una traduccion interlengua.

Frase ll:  La interpretacion de los signos verbales mediante otra lengua en una traduccion

literaria se llama una traduccion interlingiistica.

A la luz de estas dos frases, escoja la opcidn correcta de las dadas a continuacién:

(1} Ambas frases son correctas

(2) Ambas frases son incorrectas

(3) Frase | es correcta pero la Frase 1l es incorrecta
(4) Frase | es incorrecta pero la Frase Il es correcta

[Question ID = 695][Question Description = Q89_Spanish_SHAANM_NOV20_shift1]
1. 1 [Option ID = 2777]
2. 2 [Option ID = 2778]
3. 3 [Option ID = 2779]
4. 4 [Option ID = 2780]

90)
Se dan dos frases a continuacidn:

Frase I: la competencia comunicativa se entiende como la habilidad de utilizar el idioma

como lo hara un nativo de este idioma.

Frase Il: La competencia discursiva es parte de la competencia comunicativa y refiere a la
capacidad que posee una persona para desenvolverse de manera eficaz vy
combinando los componentes gramaticales y significados en la lengua extranjera en

diferentes situaciones de comunicacion.
A la luz de estas dos frases, escoja la opcion correcta de las dadas a continuacion:

(1) Ambas frases son correctas

(2) Ambas frases son incorrectas

(3) Frase | es correcta pero la Frase |l es incorrecta

(4) Frase | es incorrecta pero la Frase Il es correcta
[Question ID = 696][Question Description = Q90_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2781]
2. 2 [Option ID = 2782)

3. 3 [Option ID = 2783]
4. 4 [Option ID = 2784

Topic:- 405PANISH_B

1)
Lea el texto y rellene el hueco con la opcién correcta:
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(4)

En alguna parte dice Graham Greene que “ser humano es tambiénun 7, Se referia
probablemente a esos atributos como la compasion por el prgjimo, la o la
benevolencia hacia los demas que suelen considerarse rasgos propios de las personas “muy
humanas”, es decir, aguellas que han saboreado “la leche de la humana ternura”, segun la
hermosa expresion shakesperiana. Es un deber entiende Greene, llegar a ser
humano de tal modo. Y si es un deber, cabe gue no se trata de algo fatal o
necesario: pues habra quien ni siquiera intente ser humano o quien lo intente v no lo logre, junto
a los que en ese noble empeno. Es curioso este uso del adjetivo “humano”, que
convierte en objetivo lo gue diriamos que es inevitable punto de partida. Nacemos humanos,
pero eso no basta: tenemos también que llegar a serlo,

deber

derecho

placer

deuda

[Question ID = 702][Question Description = Q91_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2805]
2. 2 [Optien ID = 2806]
3. 3 [Optien ID = 2807]
4. 4 [Option ID = 2808]

2)

(1)
(2)
(3)
(4)

Lea el texto y rellene el hueco con la opcién correcta:

En alguna parte dice Graham Greene que “ser humano es tambiénun __ ", Se referia
probablemente a esos atributos como la compasién por el préjimo, la o la
benevolencia hacia los demas que suelen considerarse rasgos propios de las personas “muy
humanas”, es decir, aquellas que han saboreado “la leche de la humana ternura”, seguin la
hermosa expresion shakesperiana. Es un deber entiende Greene, llegar a ser
humano de tal modo. Y si es un deber, cabe gue no se trata de algo fatal o
necesario: pues habra quien ni siquiera intente ser humano o quien lo intente y no lo logre, junto
a los que en ese noble empeno. Es curioso este uso del adjetivo “humano”, que
convierte en objetivo lo gue dirfamos que es inevitable punto de partida. Nacemos humanos,
pero eso no basta: tenemos también que llegar a serlo,

alianza
solidaridad
unanimidad

union

[Question ID = 703][Question Description = Q92_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2809]
2. 2 [Option ID = 2810]
3. 3 [Option ID = 2811]
4. 4 [Option ID = 2812]

3)

(1)
(2)

Lea el texto y rellene el hueco con la opcién correcta:

En alguna parte dice Graham Greene que “ser humano es tambiénun 7, Se referia
probablemente a esos atributos como la compasion por el préjimo, la o la
benevolencia hacia los demas que suelen considerarse rasgos propios de las personas “muy
humanas”, es decir, aguellas que han saboreado “la leche de la humana ternura”, segun la
hermosa expresion shakesperiana. Es un deber entiende Greene, llegar a ser
humano de tal modo. Y si es un deber, cabe gue no se trata de algo fatal o
necesario: pues habra quien ni siquiera intente ser humano o quien lo intente v no lo logre, junto
a los que en ese noble empeno. Es curioso este uso del adjetivo “humano”, que
convierte en objetivo lo gue diriamos que es inevitable punto de partida. Nacemos humanos,
pero eso no basta: tenemos también que llegar a serlo,

moral

inmoral

prepp
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(3)
(4)

feo

amoral

[Question ID = 704][Question Description = Q93_Spanish_SHAAM_NOV20_shift1]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4, 4 [Option ID = 2816]

4)

(1)
(2)
(3)
(4)

Lea el texto y rellene el hueco con la opcién correcta:

En alguna parte dice Graham Greene que “ser humano es tambiénun 7, Se referia
probablemente a esos atributos como la compasion por el prgjimo, la o la
benevolencia hacia los demas que suelen considerarse rasgos propios de las personas “muy
humanas”, es decir, aguellas que han saboreado “la leche de la humana ternura”, segun la
hermosa expresion shakesperiana. Es un deber entiende Greene, llegar a ser
humano de tal modo. Y si es un deber, cabe gue no se trata de algo fatal o
necesario: pues habra quien ni siquiera intente ser humano o quien lo intente v no lo logre, junto
a los que en ese noble empeno. Es curioso este uso del adjetivo “humano”, que
convierte en objetivo lo gue diriamos que es inevitable punto de partida. Nacemos humanos,
pero eso no basta: tenemos también que llegar a serlo,

ignorar
discrepar
divergir

inferir

[Question ID = 705][Question Description = Q94_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3, 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

3)

(1)
(2)
(3)
(4)

Lea el texto y rellene el hueco con la opcién correcta:

En alguna parte dice Graham Greene que “ser humano es tambiénun 7, Se referia
probablemente a esos atributos como la compasion por el prgjimo, la o la
benevolencia hacia los demas que suelen considerarse rasgos propios de las personas “muy
humanas”, es decir, aguellas que han saboreado “la leche de la humana ternura”, segun la
hermosa expresion shakesperiana. Es un deber entiende Greene, llegar a ser
humano de tal modo. Y si es un deber, cabe gue no se trata de algo fatal o
necesario: pues habra quien ni siquiera intente ser humano o quien lo intente v no lo logre, junto
a los que en ese noble empeno. Es curioso este uso del adjetivo “humano”, que
convierte en objetivo lo qgue diriamos que es inevitable punto de partida. Nacemos humanos,
pero eso no basta: tenemos también que llegar a serlo,

triunfaran
triunfen
triunfaron

hayan triunfado

[Question ID = 706][Question Description = Q95_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Optien ID = 2821]
2. 2 [Optien ID = 2822]
3. 3 [Optien ID = 2823]
4. 4 [Option ID = 2824]
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Topic:- 405PANISH_C

1)

Lea el texto y escoja la opcidn correcta:

La escuela del mundo al revés es la mas democratica de las instituciones educativas. No exige
examen de admision, no cobra matricula y gratuitamente dicta sus cursos, a todos y en todas

rasrkan and e ba Flmrea camna nn oal mdales mar o mlas an il Al cledana man A omrmecaindada A
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primera vez en toda la historia de la humanidad, el pader universal.

En la escuela del mundo al revés, el plomo aprende a flotar y el corcho, a hundirse. Las viboras
aprenden a volar y las nubes aprenden a arrastrarse por los caminos.

El mundo al revés premia al revés: desprecia la honestidad, castiga el trabajo, recompensa la
falta de escrupulos y alimenta el canibalismo. Sus maestros calumnian a la naturaleza: la
injusticia, dicen, es ley natural.

El tono que se emplea en el texto es :
(1} irénico

(2) pesimista

(3} optimista

(4) humoristico

[Question ID = 707][Question Description = Q96_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4, 4 [Option ID = 2828]

2) ; -
Lea el texto y escoja la opcidn correcta:

La escuela del mundo al revés es la mas democratica de las instituciones educativas. No exige
examen de admision, no cobra matricula y gratuitamente dicta sus cursos, a todos y en todas

partes, asi en la tierra como en el cielo: por algo es hija del sistema que ha conquistado, por
primera vez en toda la historia de la humanidad, el poder universal.

En la escuela del mundo al revés, el plomo aprende a flotar y el corcho, a hundirse. Las viboras
aprenden a volar y las nubes aprenden a arrastrarse por los caminos.

El mundo al revés premia al revés: desprecia la honestidad, castiga el trabajo, recompensa la

falta de escrupulos y alimenta el canibalismo. Sus maestros calumnian a la naturaleza: la
injusticia, dicen, es ley natural.

Segun el texto, la escuela a que se refiere es una escuela ;
(1) democratica

(2) solidaria

(3) igualitaria

(4) impudica

[Question ID = 708][Question Description = Q97_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2829
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

3) Lea el texto y escoja la opcidn correcta:

La escuela del mundo al revés es la mas democratica de las instituciones educativas. No exige
examen de admision, no cobra matricula y gratuitamente dicta sus cursos, a todos y en todas

partes, asi en la tierra como en el cielo: por algo es hija del sistema que ha conquistado, por
primera vez en toda la historia de la humanidad, el pader universal.

En la escuela del mundo al revés, el plomo aprende a flotar y el corcho, a hundirse. Las viboras
aprenden a volar y las nubes aprenden a arrastrarse por los caminos.

El mundo al revés premia al revés: desprecia la honestidad, castiga el trabajo, recompensa la
falta de escrupulos y alimenta el canibalismo. Sus maestros calumnian a la naturaleza: la
injusticia, dicen, es ley natural.

"El mundo al revés” significa un mundo donde todo es :

(1) equitativo

(2) solidario
(3) injusto
(4) fraternal

[Question ID = 709][Question Description = Q98_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]

| 3, 3 [Option ID = 2835]
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| 4. 4 [Option ID = 2836]

4)

Lea el texto y escoja la opcidn correcta:

La escuela del mundo al revés es la mas democratica de las instituciones educativas. No exige
examen de admision, no cobra matricula y gratuitamente dicta sus cursos, a todos y en todas

partes, asi en la tierra como en el cielo: por algo es hija del sistema que ha conquistado, por
primera vez en toda la historia de la humanidad, el poder universal.

En la escuela del mundo al revés, el plomo aprende a flotar y el corcho, a hundirse. Las viboras
aprenden a volar y las nubes aprenden a arrastrarse por los caminos.

El mundoe al revés premia al revés: desprecia la honestidad, castiga el trabajo, recompensa la
falta de escrupulos y alimenta el canibalismo. Sus maestros calumnian a la naturaleza: la
injusticia, dicen, es ley natural.

En el texto, la palabra “calumniar” significa :

(1)
(2)
(3)
(4)

apreciar
valorar
despreciar

venerar

[Question ID = 710][Question Description = Q99_5Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838)
3, 3 [Option ID = 2839]
4. 4 [Option ID = 2840]

3)

Lea el texto y escoja la opcidn correcta:

La escuela del mundo al revés es la mas democratica de las instituciones educativas. No exige
examen de admision, no cobra matricula y gratuitamente dicta sus cursos, a todos y en todas

partes, asi en la tierra como en el cielo: por algo es hija del sistema que ha conquistado, por
primera vez en toda la historia de la humanidad, el pader universal.

En la escuela del mundo al revés, el plomo aprende a flotar y el corcho, a hundirse. Las viboras
aprenden a volar y las nubes aprenden a arrastrarse por los caminos.

El mundo al revés premia al revés: desprecia la honestidad, castiga el trabajo, recompensa la
falta de escrupulos y alimenta el canibalismo. Sus maestros calumnian a la naturaleza: la
injusticia, dicen, es ley natural.

La siguiente afirmacion sobre el mundo al revés es correcta :

(1)
(2)
(3)
(4)

recompensa al honesto
recompensa al trabajador
la persona gue no tiene escripulos es premiado

rechaza el canibalismo

[Question ID = 711][Question Description = Q100_Spanish_SHAAN_NOV20_shift1]
1. 1 [Option ID = 2841

3. 3 [Option ID = 2843

]
2. 2 [Option ID = 2842]
]
]

4. 4 [Option ID = 2844
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Topic:-

General Paper_Set1_A

1)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% J:2
Sales (SA) 12% 5:3
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What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

vonstruction and Maintenance (V1) Y b4
Professional (PR) 18% B: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:6

faeferfiga arferenr vt fomm Hiftg fred s 3 g o & Ao o fofter St 4 wra 6 shefse = gfoea
(%) faoo aw ge-ufgen wrme s qutE T gl ol &l % P PEwe B G 80 g 2

arfersst o 138 U SRSl % U 9T 9T I 4]

YR % FEAEA H1 dFar
TSI, oh1 &5 A ol e
wtawa (%) Toqwr | gev-nfgem @@ (g0 )
T (TE §) 15% 3:2
Tod (TF 1) 12% 5:3
fmtor 3ii smeaw (ot ) 9% 5:4
wheEE (dt 31R) 18% B
oA (T U) 21% 3:4
IedTEa iR uitEss (i ) 19% 5:3
3= (3t &) 6% $:5

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft & =t et 769 SEEe 1 oite wear 991 27 (S9me % 31 o) a%)

(1)  6.39 @@

(3)  5.96 AT

(2) 4.69 9™

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_51_SHAAN]

v

b

1
2
3.
4

2)

1 [Option ID = 8025]
2 [Option 1D = 8026]
3 [Option 1D = 8027]

. 4 [Option ID = 8028]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S ot
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 513
Others (OT) 6% 3:68

Frefafan oftem W fiem Hiftw few o 7@ ge 94 3 o # fafaw om0 3 wwa F wesa =@ e

(%) T @ yEo-afEen Frme oua qmi T 2wt aEl 5 P FEww f T 80 9@ 2

aiferst § f3U 70 STST % STYW W YT % SaL ST
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

A = IS 1 &g foan
TR 57 & W o Frerd
st (%) T | geu-Afeen oguw@ (3 A )
Tar (TF §) 15% 3:2
Aed (T 1) 12% 5:3
Fomtor 3 arar (di u) 9% 5:4
e (i 2TR) 18% 517
weruA (T U) 21% 3:4
Ieures 3R ufias (4 3) 19% 58
317 (211 &) 6% 3:h

sector?

(1) 330% (2) 318%
(3) 320%  (4) 80%
Ty § S dt IR & ° weia niten wrRme o g o o &9 § FrERa gE wEed i aeE 65

foram oA 27

(1) 330%
(3) 320%

(2) 318%
(4 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]

T

1 [Option ID = 8029]

2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3)

Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distiabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3.5

Frefafan ofeem W fem Hift few oF @ ge 99 9 o # fafaw a0 3 wra F wesa = e

(%) T @on yEa-afEen $rme oua qmia T 2wt &El 5 P FEw e 6 e 80 9| 2

aifers § 30 70 STST % STYW W YT % SaT ST

G % HREA 1 @Fa
TR =57 &3 YR 1 FHEaA
i (%) o | gea-afgen egua (T ° )
a1 (TH §) 15% 3:2
g (T 1) 12% 5:3
ot i arorenr iy Qo Aed
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

e (i TR 18% 5:7
wedA (T U) 21% 3:4
IeureR 3R ufias (4 2) 19% BB
3177 (31 &) 6% 3:5

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH U 3R TN T &9 § HEG 950 PEEd H Fa G 6 f 4% § Fed FEed i fe Geal 1 eTET

oram widwa 87
() 89% (2) 87%
(3 89% 4 85%

[Question ID = 2009][Question Description = Q03_GP_20M0V_S51_SHAAN]

T

1 [Option ID = 8033]

2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4)

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 37
Sales (SA) 12% 5:8
Construction and Maintenance (M) 9% 5:4
Professional (PR) | 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3.5

Frefafan ofeem W fem Hift few oF @ ge 99 9 o # fafaw a0 3 wra F wesa = e
(%) foam a1 geu-afEen FEEe oum qma T 2| wHi @l S Fe wEed B G 80 9@ 2|
ATt ° T8 T STS1 % STER W I¥T o Io aier)

A % P = &R e
TR 57 & I o Frer
st (%) T | geu-afeen ogue (3 A )
a1 (TH §) 15% 3:2
Bew (T 1) 12% 5:3
Fmtor i e (d ) 9% 5:4
ArFTEe (d 2TR) 18% 5:7
weuA (TH U) 21% 3:4
Ieuren iR ufiags (di ) 19% BT R
31 (a7 &) 6% g5b
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The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

TH T SR TH U &} FEE Afgen wEEA $i Fa qea R 6 d &7 7 Fweig aften seisa f aem 5

ot fraar 27
(1) 5.1 @@ (2 7.59@
(3) 5.7 9@ (4) 13.2 9@

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

9) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% S i
Sales (SA) 12% b:3
Construction and Maintenance (M) 0% 5:4
Professional (PR) 18% b
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5:3
Others (OT) 6% 3:6

Trefafign @i w faem Hifte e o G ge o 3 g o fifee gat 4 awa 6 weise = gk
(%) faem o Ty-ufzen welee sETd <wim T B Wl &9 % T wEsa H Gen 80 g 2
qrferssr o fau T4 3RSl = IR G YT = I Y]

TG % FHAEe F1 AFar G
TSI, oh1 &5 HIq = e
gt (%) Torqwr | gev-nfeem sgo@ (g0 )
o (Td %) 15% 3:2
Tow (T T) 12% 58
fmtor 3fit smeawr (ot @) 9% 6:4
arbere (i 31m) 18% 5:7
weIeA (T U) 21% 3:4
IeaTEa iR uftEsa (i ) 19% 5:3
37 (3 &) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16: 35 (4)16: 39

it T & § HERa Afgen FEed S 9 R R T o A &6 ° oG 959 SEed i To e 5
SIS o 27

1y 17« 20 N 1R« 27
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(3 16:35 @4 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_S1_SHAAN]
. 1 [Option ID = 8041]
2 [Option ID = 8042]
. 3 [Option ID = 8043]
. 4 [Dption ID = 8044]

e it BRI

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AL = FFu T A g AR AR TR gee 1 Ued FE TR 36 Sared TRGAIHOT W Bl 8 7

(1) gl =R (2) =T T
3) HE®X (4) WP T T

[Question ID = 2012][Question Description = Q06_GP_20NOV_51_SHAAN]
1.1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3. 3

[Option 1D = 3047)
4, 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A} Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below ;

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafan 3= gfef s amarett 6t gt 2 G sremmm gedt fafm wigl = meam @ fafRa e
T R S T S SregR A hi Anad §) 396 A w4 ) GHGE SHagR AT+ Fearid o) 37

(A)  omeR-aHal (Ame)

B fEeE

(C) T =i aftafa
D) =

(B) s

= fou o e § o e S w1 =99 Fif

1) (A FW®B)
@ (B RO
3) (D) 3R (E)
@  (B)RD)
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[Question ID = 2013][Question Description = Q07_GP_20N0OV_51_SHAAN]
154

[Option ID = 8049]
2. 2

[Option ID = 8050]
i

[Option ID = 8051]
4. 4

[Option ID = 8052)

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List 1l provides the techniques of increasing
effectiveness of the method.

List 1 Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I} Using Swayam and Moocs

(B) Open and distance learning method (I} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(Il}, (C)-(lI), (D)-(IV)

(2) (A)-(I), (B)-(1¥), (C)-(1), (D}-(I1)

(3) (A)-(IV), (B)-(llI), {(C)-(M), {D)-{1)

(4) (A)-(11), (B)-(D), (C)-(IV}), (D)-(II)

A1 % @ gh-11 =1 foem $if) -1 9 s siftrm wwnet © fram 6 Bl 6 o€ €, o=k gt
11 7 siferms faftert < waresfiea s i a9 & 78 £

-1 wft- I

Fregor <t fatern UTEEiear I Hi ahAlh
(A) STIH-TUR A siatEers Bl @ o ok e A
(B) W i gl arftem fafy (D) ARhit e Y
(C) Toreror it Jafws fafa (I1I) WisgeR FTEAeHF armft
(D) Treror i arveT By (IV) witsal & Jy-wy fomeis oA
9 fov 7o fawedt 9 © w8 ST W 99T i

1) &, (B)-AD), (C)-AID, (D)-AV)
2 (A)-dID, B)-AV), (C)-(), (D)-(ID)
(3 A-av), ®)-d1D), (€)-dn, (D)-D)
@ (@-AD. B)-D. (C)-AV), (D)-AID

[Question ID = 2014][Question Description = Q08_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Optien ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (11) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (1) and Statement (1) are incorrect

(3) Statement (1) is correct but Statement (l1) is incorrect

(4) Statement (1) is incorrect but Statement (ll) is correct
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=97 (I) : IR AR ATHEHEC S0& = TUSNEHA & JH 3R 3901 &9d1 1 SO0 T
T e ™ geTa AR 3R S 2

% (I0) : Fegig =afeea wlam i nadm =i oieo et & fafie smer 3 o =
AT S e G qUR e S )

SUUH HF F A A, 4 fu o formed 4 © we% SUgw SW W =99 St

(1) = (D 7 I 3 T 2
) =W @) 3R 1) 3 e E|
(3) =y (D)= 2, SifE e (1D o R

@)  HE () e 2, S F9T (00 w8t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8057]

2. 2 [Option ID = 8058]

3. 3 [Option ID = 8059]

4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}).

Assertion {(A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R} : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

fiol g Fom Rw w € : ©F afiER (Assertion A) % w9 § fafiga 2 @ z@u 3w F (Reason R)

*®w Y

sATHFI (A) ; foregor & amglee @ik g @ A snaife weEar vl @ Fia s sfem gfommt
1 TEAH T 2

FRT (R) : fordft el fnenor wemar wonedt =1 wiftpm afifufaat 9 gam % wy g3 S S
ELEd

I FHYT * oAF 1, T e v Fwedt § | gt ST W 999 i

(1) (A R (R) g1 Tex 3 3 R), (A) 1 &l =arean 2|

2) (A ¥R (R)ZF TA &, IR (R), (A) 1 T8 ==me T 2

(3) (A @ed 2, aFF (R) wme 2

(4 (A) 3w\ 2, A (R) 7 2)
[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]

3. 3 [Option ID = 8063]
4, 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopa wepr % wiw o ufgarli-uldss 6 Deatza fen S 27

(1)  Jeda oy (2) tfaeitaes My
(3)  SATATHR MY (4) TS Wy

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
| 1. 1 [Option ID = 8065]
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| 2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (E)

uitsreu afemr e afofe = ot ofugf® o omfe % = 4 26t 2, g 6 f=fafea 9 @ f faften

] T LR &7

(A) faarones &

(B)y wEmen=s fafy
(C) e fafy
D) el B

(E) ==maEmesss iy

F= fou o fawedt § o OF W w1 9= ST

) (@B
@ (B3RO
3 (O RD)
@ (D) R (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Optien ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il, List | gives steps of research while List || provides techniques used,
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (l) Tabular and graphical representation of data

(B} Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(l1}, (B)-(I¥), (C)-(11), (D)-(I)

(2) (A)-(1), (B)-(I1}, (C)-(IIN), (D)-(IV)

(3) (A)-(11), (B)-(IN), (C)-(), (D)-(IV)

(4) (A)-(1), (B)-(1), (C)-(N), (D)-(IV)

-1 % @ g-11 o e fifse) gef-1 9 iy & w1 wew 2, 99t gef-11 9 399 grr sges oo

Gin! Feft-1I1

T ok = 10 L | A I E 1 (o G E e B
(A)  wwEn iy () s o1 WRfEs 39 AT T
(B) ufterewn fmfo D) U goTR U2 U Tl H

(C) wia=em wisean =1 == (III) <1 6 &3 ¥ e 9vA 33
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(D) ARG fagewor (IV) w119 h = = s gae w7 #

F2 fou o faweal § U UE SR 1 99 i

1)  (A)-dID. B)-AV), (C)-aD). (D)-(D)
2 (A-D. (B)-AD), (C)-AID, (D)-AV)
(3)  (A-dD. B)-I), (C)-D),. (D)-AV)
(¢  (A-dID. B)-@). (O)-AD,. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8073]
2. 2 [Optien ID = 8074]
3. 3 [Optien ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement () : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1} is false but Statement (ll} is true

= g o fir e 3

w7 () : UF TU-TEY T WE-T3 § 9Ed oK g9eHT % taed oI fef % e =g ot 78
gl 2

w97 (ID) : g wadt A o s sgaen wft mdl F o sthEm 1

ST HIA H aTens 8, F= B el § 9 ot s w9 i

(1) =y @) s JD 241 T 3
2) o (O 3R AD B oEeE B

8 =y () "ea 2, A waE (1D s9ed 2

@) = (D) 9 2, dfes w10 F9 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078)
3, 3 [Option ID = 8079]
4, 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

Hi= 2w g T £ ;o sifiwuR (Assertion A) & w0 # foflaw @ @ 3T 39% T (Reason R)
FEaH

~afiTaReTT FAN - raft e ohrssum (0 30 Borsroim vhesoat (1) 3 mErmm © uhierm Bem o
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arimy
w0 (R) : e ufmwerr (Hy) i ashanta 67 sifigf g e & 78 F s a2

SUIRE YA H I d, T o T femedt § @ aew Sugw S W 9 i

1) (A) IR (R) IF T 2 3R R). (A) A 7 =7mEm 2

(2) (&) R) A T B, 9fF (R), (A) B v s 7 R
@ (A wE 2, afF ®) T8 T R

@ (A= TE 2, @ (R) " R

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Optien ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

et YW i T = ugE UE feew feafafaa 8 @ few 6w s 20

(1) 30 sad (2) 30W
(3) 15 3RS (4) 15 TR

[Question ID = 2022][Question Description = Q16_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8085]
2, 2 [Option ID = 8086)
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

form TmTERTs = TdR-feg (S "Let truth prevail” ®7

1 =i Q) e A s
(3 RiFm 4) 3T

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089
2. 2 [Option ID = 80%0]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is

decreasing.

Reasons (R} : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) {(A) is not correct but (R) is correct

= g ye fau U § : us sifem (Assertianﬂ)%wﬁ%ﬁﬁ%a}agﬂm%w(ReasonR)
FEIH

a1 (A) | aAftrs wan (sigsre) sarsa wfees gafwedie S st g 2, v A3 Mg
) e T TOF U9 92 ©T 2

FRO (R) FER TERY (Fiswne) Hitea W asei 2F i # TR T=E 2

ST YT F e W, 4 U T faewedt 0 9 qu8 I SR W 9EA SN

FERS o . . T LA ¢ A — ean N " A

prepp

Your Personal Exams Guide



www.prepp.in prepp

Your Personal Exams Guide

KLy LEA I ) Q171 ol © 2L L), L) T Sal YHIEH) ol
@) (A SR @) A T E, AfE ®), Q) e s T Y
(3) (A TE R, Al (R) wd T8 2
(@) (A= TE R, A R) wE R

[Question ID = 2024][Question Description = Q18_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 80%94]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System,

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1} (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU & Bg MUFHA Wl Aohies 78 TR ¥ TF TR (G0 7 meral amfea ge?

(A) o fagm fafE i s g 5@ F R
B = wia safim Five % @y e 33 %
(C) It = frar qonell = & ser * gy

(D) =g 9N s9F % fore R difgm = uend wvre @i giar 21

:ﬁ%}ﬁqwﬁwﬁﬁﬁwﬁ—m{ﬁwwww :
() =3 (4) 3R (B)
2  a (B) 3 (C)
(3) e (C) a1t (D)
@  FFE (A) (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8097)
2 [Option ID = 8098)
3 [Option ID = 8099]
4 [Option ID = 8100]

oW =

13) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) {A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

F & geh A T B wd el R B
A e
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(B)  FgTEn
© T
(D) g

(E) &I = 9 g

=1 fou 7o el § @ W@ ST w1 999 Fifu

(1) == (A), (B) i (O)
2 % ®), (©) IR D)
3 %39 (C). (D) 3R ()
4 F (), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs, 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/~ (4) Rs. 6,000/~

U T4 % SR U TRAR W o7Gd Wi 599 UE 3 WaAl § 4000 T, 3G I 4 "oFl 0 4500 w9
AR FAfwm 5 72El A 5000 wWA 97| 41 3w At % 0T Fe gwa 5000 wuH off 4 3@ gfEw H g

AT 1 fRat ot ?
(1)  3000/- ¥ (2) 4000/- =
(3)  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8105]
2 [Option ID = 8106]
3 [Option ID = 8107]
. 4 [Optien ID = 8108]

B =

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg it g} ararew wemey W sitgd w4 -

(1) 76.5 (2) 98.25
(3) 55.75 (4) BB.75

[Question ID = 2028][Question Description = Q22_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4, 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) B0%

T ARG 33 TeX 3 999 W 11 ofieX 39 % e e % v W oifSia wRan 21 wfowa §
AT, :

(1) 25% (2) 50%
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(3) 70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]

1,
2
3.
4.

1 [Option ID = 8113]
2 [Option ID = 8114]
3 [Option ID = 8115]
4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  {2) 5.26%
(3)5% (4) 7.2%

o7 Tl =g o1 T ged SEe fosed ged 1 95% 2 At e A wfdran o= 27

(1) 4.26% (2) 5.26%
(3) 5% (4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20N0V_S51_SHAAN]

1.
il
3.
4,

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a

1 [Option ID = 8117]
2 [Option ID = 8118]
3 [Option ID = 8119]
4 [Option 1D = 8120]

profit of 30%?
(1) Rs. 1,600/- (2) Rs. 2,000/-
(3) Rs, 2,080/- (4) Rs, 1,560/-

72 ig =afs et g =+t 25% ufewm F oI @ 38 1200/~ o § dwar & a1 30% =1 @19 HAH
fore =@ =w =g # e Fiwa | s= =i @

(1) 1600/~ v (2) 2000/- ¥

(3)  2080/- s (4) 1560/- T

[Question ID = 2031][Question Description = Q25_GP_20NOV_51_SHAAN]

1.
2.
3.
4.

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the

1 [Option ID = 8121]
2 [Option ID = 8122]
3 [Option ID = 8123]
4 [Option ID = 8124]

unobserved object with a known object?
(1) Arthapatti (2) Anumana
(3) Upamana (4) Unuplabdhi

TS WA quAard ®§ T = Frefafaa § 9@ Fi9-m g o 9% R 3 a%g % |y meEa )

ST 27
(1) ety (2) ogEE
(3) sTEE (4) Uy

[Question ID = 2032][Question Description = Q26_GP_20NOV_51_SHAAN]

1.
2.
3.
4.

1 [Option ID = 8125]
2 [Option ID = 8126]
3 [Option ID = 8127]
4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration {(upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijfia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)
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I ToRITRE o IR S % A H =0T =1 Gl 369 o 8 7

&)  fommd fava 9 semon it waea/ vEisTa # wUE (3TE)
B) TN F HE (%)

©  sifgamon i fagh % =0 A gy (Frem)

D)  iftemon w1 %o (wiow)

(& Tafea fem = s 3 (Samewn)

e fau e faeredt 4 9 981 39 @ 99 il

1 D) E). A ), B

@ (D). (©). (B). (A). (E)

(3 (D). B (E). A O

@ D) E).A). B O
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8129]
2. 2 [Optien ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?
(A) Nayaya

(B)  Vaisesikas

(C)  Buddhists
(D) Mimamsa

(E) Carvaka/Lokayvata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
4 (A, (D) and (E) only

T YRAHE e -9 ALIEE W63 YA St ST % IO A @ 7

(A =

B) S

€ dig

(D)

(E) =&/ /amea

Hi=t fau 1w fareal § O 9El 3o w1 wEa Fif

(1)  Faa (B) R (C)
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(2) T (B). (C) ¥R (E)
(3) A« (B) 31X (E)
(4) I (A), (D) 3 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (l) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement () and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1} is false but Statement (ll} is true

= 2 wF fg o E

= (D) : e AT qhuTE  HTER FETHE S dlfhd P9 o aa i B 2|

w9 (ID) ; ATs Gt ag A Sardl & 76 =6 R TR # SIgHE e wiiee Sfeh aega: T8
s 2 7% 29 0 orem @ )

I A e |, 9 Ry o et & @ wd set = = S

(1) = @) R ID) & A 7
2) U @) R (ID) A7 I\ 7
(3) =y () 9cA 2, Afe =y (D) #1595 2|

(4)  =ua (D) 3T 2, sl A (1) g0 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_51_SHAAN]
1. 1

[Option ID = 8137]
o)

[Option ID = 8138)
S

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

gefl-1 & @y g=hi-11 = fregm fifom)
-1 - 11
T % T GETice)

(A)  stfireon = g % v F gfy @ el gl gl 2 Tw S gl @ dW Wi
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H|
(B) RO 1 HYA Al) UETE W T 2
(C) fifzg fam =1 samwr & A1) sEfae wRE = s 2|
(D) wnfta = SHenet Jfamon 1 weE AV) it 77t g3t 2

= R 7w Ted B @ 98 ST % T R

1) @)-@), B)-3I, (C)-AV). (D)-(1I)
@ @-AV). (B)-dAID), (CO)-(1). (D)-dI)
3  @-dID, B)-AV). (C)-(1). (D)-AD)
@)  A-dD), B)-O, (C)-dID). M)-1V)

[Question ID = 2036][Question Description = Q30_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8141]
2 [Option ID = 8142]
3 [Option ID = 8143]
. 4 [Optien ID = 8144]

oW R

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

wF oS & FA Y T 4§ U A Hise % Auer %1 Wi Ben 3 e e e f wwe ot 2 9
W1 et Seiy Aigal i ST9aT SR 3§ Bier 3T a9 A 59 2|

oo 9 % o g gl = uae e e 27

(1) v (dm) W Q) =-tgrE
(3) wite =7 T 3Ed (4) T g D IFIE

[Question ID = 2037][Question Description = Q31_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8145]
2 [Option ID = 8146]
3 [Option ID = 8147]
4 [Option ID = 8148]

B 2

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R) : Man and Computer cannot communicate directly,

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R} is true

= 2t = i e B . v aifymus {Assertion A) % &9 § fafigg 2 @ THd U FIIT (Reason R)

F T H

SRUE (A) : % AW TS e °§ O AT o snayas =9 ° weuifia 5 wifEm)
FNT (R) A 3R B e gR W " § darg T8 o gehd |
ITUTH U ok A °, A U U e § O 1) 3 W 999 <hifaw

1) Q) IR R)IAT 7= £ R (R), (A) F Tt = 7)1

2 (AR ®) I T, A R), Q) B wd =en T2
@ (A=A, aFF (R) 39 2|

@ (A T g, afF (R) T 2l

[Question ID = 2038][Question Description = Q32_GP_20M0V_S51_SHAAN]
| 1. 1 [Option ID = 8149]
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| 2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D} 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A}, (C), (B)

(2) (A), (D}, (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

gaU 91 U 9uh B Gual % FH 1§ Fofaiied W Guaiet % 98l %9 i GgeF i)

A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= fog o ferreut 4 9wl s = w= Hifsw

1) (D) A){C). (B)
2 @), {D. ). B
3 @, 6B.0.0O
@ D), ©).A). (B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (I} is true but Statement (ll) is false

(4) Statement (1) is false but Statement (I} is true

@B % e ® fas sy it a-wrd et a2, gt e g e d

o (D) : -8 T I sy ¥ A B B
% (II) STS—hI%  HISHS ¥ g Hhi 37U el ST dish < ¥ 32 Ao 1 wehar B

I YT * o7 H, T8 e o Fweul § 9 udl s w999 Hifg

(1) =9 (1) 3 AD I Tea B

(2) e (1) ST (D) 297 315 B
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(3  Fw (D) U3 7, I w9 JD) 9 3

(4) = () o7cd 2, 9fF w9 (D 99 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Optien ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l ;

g=it-1 % @y ge=h-11 o1 foerm hifem)
g1 gt-11
(HrogeR T g ) (TFI)
(A) OCR ) e a1 TEafdiga semEsl o T B 5
feTe w3 =1 R)
(B) OMR D) sg-fmred wlare § 3% vg % & fog
PRERCIR
(C) Email (I11) Taw=IicTsh FhTH
(D) Instant Messaging AV) THFINTF HEGTHT
F= fou o fawew § O 99 S w1 o hi
(1) (A)-T), (B)-I), (C)-(AV), (D)-(I1I)
(2) (A)-AD), (B)-(D). (C)-(I1D). (D)-IV)
(3) (A)-0). (B)-(AD). (C)-(I11). (D)-(IV)
(4) (A)-I), (B)-(ID), (C)-IV), (D)-(11T)
Match List I with List I1;
List I List II
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (II) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

1)  @)-dD, B)-@). (O)-AV). O)-(II)

(2) (A)-AD. (B)-D). (C)-(11L, (D)-(1V)

3  @-@, (B)-dD), (C)-(IIL), (D)-AV)

@ @@, (B)-dD. (O)-AV). M)H-UII)
[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2. 2

[Option ID = 8162)
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SlF-ar v A = RO wE G gmd 20
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[Question ID = 2042][Question Description = Q36_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4, 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frafafiga A 9 =h-w =t gq 9 St w1 w80

(1)  warfEm s (2) uEd S
(3)  wiEe (4) St

[Question ID = 2043][Question Description = Q37_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic {4) Storm

fmafafiga ® @ Fiv-=h weplas onuEl st St 2 ot sud arfeies @ oE a2 0

(1) y=m (2) SAEgE R
(3 mEmM (4) qEH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Scolar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) Mational Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

ARG GORR =h! UHierulig i a1 & ded § NMSHE fmfafiga o o foruesr gemew 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
{A) Nitrogen dioxide

(B} Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :

(1) (B), (€) and (D) only

(2) (A), (B) and {C) only

prepp
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' (3) (B) and (D) only
(4) (B) and (C) only

frefflan & © o TREs! o TR 99 HTE % TR SR e WiEd W st @ ?
(A)  EEISA SRATFIES

(B) TRR Ty (PMas)

©  siEE

(D) HA

(E) FTEgE HEEs

F9 fau ™ T § O 98 s w1 == hiR

1) A (B). (C) 3R (D)
2  F @A), (B) R (C)
(3)  FHaa (B) s (D)
(4) = (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o= o % dad o, wEdig s=an A 3 g e § uh giean dan g Fuifh e @ fbe
Frafafian 4 ¢ fra wdm e /omea =t few e ot

1 A E 2 wHAL
3 wHiamrd (4 vuwoImEdH#Hg

[Question ID = 2047][Question Description = Q41_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List I, List | names various organizations while List Il gives their location :
List1 ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; () Lucknow

(D) CDRI ; ; (IV) Karnal

g1 % =y gH-11 # frem il

-1 gt 11
(&) wTATTH O &t
B wemidic @) e
(©) T 3 AR 3T () TGS
D) & am s AV) =T

F= for T e § O 9F S w1 999 Fifu

1)  A-dD, B)-AID, (C)-A). (D)-IV)
2)  (A)-dD, (B)-D. (O)-AV). (D)-(1I)
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(3) {AA)-(111), (B)-(L1), (L)-{1). (D)-(1V)

(4 (A-AV). (B)-AID, (C)-(D). (D)-d)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) {(A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

73 foren ity (w7 § 1)-2020 % @ 3 7 v Fit w9 FE @ 2| 59 Freem % i a3

(A)  TEifER § aTEYH K TeTER 3g e fem R )
(B)  ftrm =i gAgH T Wl S A % Geg | R % g9a EE-UEE 39 UF 59 gl SO
(© i wRdr ST F SgrT ¢ H HEr 7g sgerdl R s e w

(D) wawe ufegml, wf o Semg oftadT & @9 0 Afvgs el = w2 anifefima
ST 1 T A T SaUET S T Rl

(E) foen et § sifes o aeuma awared = fmir =

= f2u 7o forreat 4 9wt 3w w1 9aw Fifv

1)  #FFa Q). D), (E)
@)  FEd (A), (B), (E)
(3)  Faa (B), (D), (B)

4 I (A), (C), (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below :
(1) (A}, (B}, (E) only
(2) (A), (C), (D) only
(3) (B}, (C}, (D) only
(4) (C), (D), (E) only
frerfefga § @ Fi-3 $-arfm 5= 27

@) =

(B) W@
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(C)  TEEHl

D) g

E) 9%

= fou e faereut # © @ At @ == il

(1) =#= (A), (B). (B)
(2) w4 A, (©). (D)
(3) %3 (B). (C). (D)
@ = (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8197]
2. 2 [Optien ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

T UT % TSE 9 g AW 2015 H waq {9 wea-4 @ weiug frefafaa 3 @ sh-m wea s

T U1 ¢
(1) a9 TRz I age (2) TorETTgER e
(3) Tl S (4) == EER TS STEEEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3, 3 [Option ID = 8203)
4, 4 [Option ID = 8204]

Topic:- General Paper_5Set1_C
Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
yvear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP iz the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800
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million people will not be able to meet their basic needs.

IS i WA 96 9T 36 aTg 9T T U9 9 3T 2

FIAT TEE FIFS- 19 HeMH §AR THF T STY9d 37T Tanea o iR fita favagg & o i v=w
o I 21 frer o % sifm B F when ¥ cuh seva % @Y A7 TERE S A Siew g
Terg # A g 2 O OF §EE BT U 10 I AT S I TEr g% 8 iRl weaar w1 g W
T SEET AW SO 98 W 3| g AT WeWR @RS UHE ¥ W ofUT B, T Th SUEE
amTfaw-o1ils wwe ft 21 3@ W waAw =afs o uwite 2 e faammd amEts ot e
TSI THE USH AT § A @ geE o TR R G a1 # | G U o g e oo
(ferarll) 7 9 @ 3t dt o aiiohl e e AR W R, WY AR FIvd T WeT % wedrm ¥ 99 ©
= wedl geg B i 9@ W & T dfvaw ueeaw ogiew Teem % wE W i 3 @ Eiee
Aok % iged © s R g 31 ' T @b st el o e mar @ €1 o 72 wan fr oot
w6 A Bel) Wer W FeR g1 g el % ged o wig-az wrell 9 ) o oW wied W
a9 2 5 400 fafemm (40 wUg) @Fn = FeiE = vt 2| faza 9% 3 spAm o & R osm A
g-t (ifeE) # 110 faform smieh s 1 wf snof) gow sl 2 5 500 fafema (80 #0%)
AT AT eI SEEl B g A J awd e g )

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

facftar forgerrg = wig faga =1 we@ w=r dwe Thg &9 ° S 27

(1)
(3

sttt (2) et
TR (4) WA

[Question ID = 2052][Question Description = Q46_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8205]
2, 2 [Option ID = 8206)
3, 3 [Option ID = 8207)
4. 4 [Option ID = 8208]

2)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemie is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the techmical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEHET U AT $8 918 73U T 5 W IW 3

BRI I FHifae-19 Tamil AR 99F 1 3nEqd ARas e ge iR fidfa fwagg & o 6 v
TH T 2 e a9 = afam B o o O Toe Teva T WY OE aTnm AU W oirEe USS
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HErd # %ol I 3| 9 T @ BT W 10 g @ A S e g & R gl wemn # gl w6
T FEEE S IETn 93 T@ 2| UG ¥E WeWHl WRed G U wE i 3, U@ Uk g
amiTE-aF v @ 21 W W Uow it e TR 2 s et s onidw o
(Rerard) o 3 o1 S ot wor ot e WeF 9 @ B, WY & 9% fava vy weA % ueEn U e ©
@R wedl geadl B ofl 3@ W # aw ww Afvew omdm eben feem % A owm f g @ ke
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEE w1 Frefertaa § @ FRe o W wwE AE gg1 27
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[Question ID = 2053][Question Description = Q47_GP_20NM0V_S51_SHAAN]

e ld B

1 [Option ID = 8209]
2 [Option ID = 8210]
. 3 [Option ID = 8211]
. 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, ite also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP iz the technical lead in the UN's goclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH-AT TEET Hifae— 19 F T9H F9 UAIEa gon 27
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8213)
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Opticn ID = 8216]

4)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet thelr basic needs.
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AT 3A9HT IR S & Q0 R 3 qHY T8t g1 e |

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDF  (2) UNICEF
(3) UN-GHRP  (4) UNSC

=1 4 @ 5w geom 9 UN #it amnfas v afamfa (fmadl) T it 390 vem fran 27

1)
3

UNDP (2) UNICEF
UN-GHRP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20N0OV_5S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

3)

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO. and the Global Humanitaran Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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(1) T T
(3)  otEnfe wfoes

(2) @A ti=E g
(4) wforEs afdem

[Question ID = 2056][Question Description = Q50_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4, 4 [Option ID = 8224]
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